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public class Hello {
public static void main ( String args[ 1 ) {
System.out.println( "Hello!" );
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class Character {
int hp;
int mp;
void displayHpMp( ) {
System.out.println( "hp is

+hp+", mpis " + mp );
ks
public static void main ( String args[ 1 ) {

Character cl

new Character( );
Character c2 new Character( );
cl.hp = 100; cl.mp = 80;

c2.hp = 90; c2.mp = 95;
cl.displayHpMp(C );
c2.displayHpMp( );

BIZE 4 TEFELK main AV y RBRITENLEEICRTENDIANBTESIT,

hp is 100, mp is 80
hp is 90, mp is 95
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class A {
int x;
static int y;
static void f( ) {
A al = new AC ); A a2 = new AC );
al.x = 10; a2.x = 20; A.y = 30;

al.x = al.x + 1; a2.x =a2.x + 1;
al.y =al.y + 1; a2.y =a2.y + 1;
System.out.println( al.x + ", " + a2.x ); // @D
System.out.println( al.y ); // @
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